3AJIALIU 3A IOMARUA
Jluneapue u bepHynujeBe mudepeHIjaIHe jeTHaInHE

Peluntu jeqHaumHe:

(1) y—(z+y’e)y =0,

) % —y=ae" 7,

(3) z(z*+ 1)y + 2%y =2,

4 z(2x*+ 1y — (222 — 1)y +az® =0,
(5) y'cosz+y+ (1+sinx)cosx =0,
(6) (xsiny — 1)y +cosy =0,

(7) 3zy —3zln*y—y=0,

(8) y'cosx —y* —ysinz =0,

9) z2z*ylny + 1)y = 2y,

(10) (2> —=1)y —yly —x) =0,

(1) ¥+ 55y =2y,

(12) o +2% =20

cos?zx”

Pemema:

(D) z=yly—1)e’+cy,

) y=er(cte?),

() yVa? 1+ 2In il — ¢

4) y=ax+cxy/|z? -1,
®)) %y:c—i—sinx—ﬂn
(6) x =sin+ccosy,

(7) 2y 3+ 3222z —1) =,

(8) y 3 =ccos’x+ 2sin®xr — 3sinz,

9) 2y+2*y*(2lny — 1) = ca?,

_ 1
(10) Y= z+c /|12_1_|9
(1) y=cy/[l—a?—3i(1—-2%) y=0,

(12) yzwﬁ‘tgl' y = 0.

l+sinz
cos?zx ?




